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Consider a sample of oxygen behaving like an ideal gas. At 300 K, the ratio of root mean

square (rms) velocity to the average velocity of gas molecule would be :

(Molecular weight of oxygen is 32 g/mol; R=83J K~ Imol 1)

Options :
s
8
86435119171
8
86435119172, ' °
8
3
86435119173
3
86435119174, 12

Question Number : 1 Question Id : 8643516391 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

<y &&men g LISA Bpoalway euryeaurs Gewaoubheausrs SHmaHs. 300 K
GeutiuBlencoulder eumryy epedaamlen Frrafl @@l e SHlasGoussin@n ayrsfl
SangCeuasdn@gurear ellflsh (ys&fpailan apadsmm erevL 32 g/mol;
R=83] K 'mol™ 1)

Options :
o
8
86435119171.
8
86435119172. 3
2
3

86435119173.
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B
\3

86435119174.

Question Number : 2 Question Id : 8643516392 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An object of mass m; collides with another object of mass m,, which is at rest. After the
collision the objects move with equal speeds in opposite direction. The ratio of the masses
m, : m, is:

Options :

(==

86435119175, L

1
86435119176.

e

=

86435119177.

3

ol

86435119178.

Question Number : 2 Question Id : 8643516392 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

m, -Blenmuenw @ Cummer quie) Hleaaulaiearer m, -Blemujenw wmHblmmm
GQurmaflen Bg Cuorgdng. Corsdlne Werarm CummLlsdr #o Has Ceushisafld
ar Sy sl Slenssafler Qawdlammer. Blanmageaflen elldlHb m,: m, :

Options :

86435119175, 11

1
86435119176.

86435119177 2 ¢ 1

86435119178, 2 © 1

Question Number : 3 Question Id : 8643516393 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

¥

: 8
A particle of mass m moves in a circular orbit under the central potential field, U(r) = T

where C is a positive constant.

The correct radius vc-Incit}-' graph of the par’riclc-’s mobtion is :

Options :

r A

O »T
86435119179.

T A

O » U
86435119180.

I A

O » 0
86435119181.

r a

O > D
86435119182.

Question Number : 3 Question Id : 8643516393 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

enowl Blenay pmme Leod U(r) = S 9m Blenmuyen_w ¢(m SideT eul_L LiLimengudle

GuriEdng. @riE C erarug Coir@ml wrmladl.
gisaflen @ wsssEnsETan Filwurear o7 - SansGeus euenyULLD.

Options :

C
86435119179.

r i

O >
86435119180.

I A

O » 0
86435119181.

r A

O > D

86435119182.
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Question Number : 4 Question Id : 8643516394 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A solid cylinder of mass m is wrapped with an inextensible light string and, is placed on a
rough inclined plane as shown in the figure. The frictional force acting between the cylinder
and the inclined plane is :

60°

[The coefficient of static friction, L is 04]
Options :
'111}1

86435119183, -

5 mg,
86435119184.

meg,

b |~

86435119185.

86435119186.

Question Number : 4 Question Id : 8643516394 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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m - flepmwjenL i g S 2 hener BLASHanenwwHD SDEwWrd &HoluLH LS
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gml sargdlnE @en G Qewaumib 2 rmie| elans :

60°

(Bleneoufwer o gmie] @Gawrsd p=04)
Options :

86435119183, ~

5 mg
86435119184.

mg

M|~

86435119185.

86435119186. ﬂ

Question Number : 5 Question Id : 8643516395 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the angular velocity of earth’s spin is increased such that the bodies at the equator start
floating, the duration of the day would be approximately :
[Take g =10 ms ~2, the radius of earth, R =6400 x 10* m, Take w=23.14]

Options :

does not change
86435119187.
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12000 minutes
86435119188.

86435119189, 00 minutes

84 minutes
86435119190.

Question Number : 5 Question Id : 8643516395 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
yelller BleophsCari(h u@dllae CAurmlisear WsEEGD euareard e
snapnillen Caran eansGousd flaflgsma, usad Cumpdler oeray Cerrmuwnrs
(g=10 ms~2 yallullem <D R=6400x10° m, w=3.14).

Options :

86435119187, DTDOSDD®

86435119188, 1200 BlblLBisei

86435119189, 00 POl e

86435119190, 54 BILOILBIEET

Question Number : 6 Question Id : 8643516396 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider a uniform wire of mass M and length L. It is bent into a semicircle. Its moment of
inertia about a line perpendicular to the plane of the wire passing through the centre is :

Options :
M2
2
86435119191,
1 MIL2
2 &

86435119192.
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86435119193.

86435119194.

Question Number : 6 Question Id : 8643516396 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L ferapd M Blesmuyd Qameir g Frmar &0 jenreul Liors euaardsl LB ng.
solear garsdlnE Cdem@ssrsand awwd eulursan Glawayn Camigeamer
Qurmss Blenewnd Slmliys Smen :

Options :

86435119191.

86435119192.

4
86435119193.

LI

86435119194.

Question Number : 7 Question Id : 8643516397 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The speed of electrons in a scanning electron microscope is 1x 107 ms™~!. If the protons

having the same speed are used instead of electrons, then the resolving power of scanning
proton microscope will be changed by a factor of :

Options :

86435119195, 1837
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=

1
86435119196.

1

A 1837

86435119197.

1837

86435119198.

Question Number : 7 Question Id : 8643516397 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@@ &R aeslgran HeamGamrsdde caslrraseaiar HasCeusbd
1x107 ms~ 1. eresl_rrens@ns@ udlars 2Cs HanaCousd Clerar LErrlLrenser
Lweru@sslulLréd seodl® yGrrliLrer meawCemrsduler u@dmen
L IHOWenL LD eigh

Options :

86435119195, 1837

-

1
86435119196.

1

1837

86435119197.

V1837

86435119198.

Question Number : 8 Question Id : 8643516398 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

10/91



3/18/2021

The velncit}-' - displacement graph of a particlr:- is shown in the figure.

(LY %

> X

{} X (4}

The acceleration - df_'aplacc-ment graph of the same particlz:- is represonted b}-‘ :

Options :
W Y
O X
86435119199.
A
9 X
86435119200.
a A
O » X
86435119201.
a Ak
9 - o
86435119202.

Question Number : 8 Question Id : 8643516398 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

Ak

O x
86435119199.
a A
O X
86435119200.
d ok
O » X
86435119201.
Ak
O :
86435119202.

Question Number : 9 Question Id : 8643516399 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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For an adiabatic expansion of an ideal gas, the fractional change in its pressure is equal to
(where v is the ratio of specific heats) :

Options :

av
YV
86435119203.
YV
s
dV
86435119204.
1 dV
T T
86435119205.
dav

86435119206,

Question Number : 9 Question Id : 8643516399 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Beéadlway euryeler Qesiuwrhdrpm elfleursssdled wsssdear dbmerey
wronb (y -ser euliukigsaflen aflélsn) :

Options :
dVv
Y v
86435119203.
V
%
dV
86435119204.
1 dV
+v ¥
86435119205.
av

86435119206,
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Question Number : 10 Question Id : 8643516400 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The angular momentum of a planet of mass M moving around the sun in an elliptical orbit is

L . The magnitude of the areal velocity of the planet is :

Options :

L
86435119207.

L

2M
86435119208.

2L

M
86435119209.

AL

86435119210, M

Question Number : 10 Question Id : 8643516400 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i

Gfwenar hereul L urenguile s&nleumbd M Hlenlsrar g@m Caraflar Garem

oy
2 bad L erafler Caraflen urly HasCeussslen eramm Sl

Options :

L
86435119207.

L

2M
86435119208.

21

86435119209.
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AL
86435119210, M

Question Number : 11 Question Id : 8643516401 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Anideal gas in a cylinder is separated by a piston in such a way that the entropy of one part
is 5y and that of the other partis S,. Given thatS; >5S,. If the piston is removed then the total
entropy of the system will be :

Options :

5, X5;
86435119211.

86435119212. 51-5;

S, +5,
86435119213,

.51

52
86435119214,

Question Number : 11 Question Id : 8643516401 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o (HenaT gammled 2 arem Beellwel eumy 2 b SHar(h pewrs Sy -<ois Gleuliub
Carar, @@ uGSHursabd S, -2& deulun GararL wHEnTm LGS TS LD
Afl&sLu’HeTengl. S; > S,, Ceyib 2 Bbg) seawr(h BastiulLréd anwlbar Gborgs
o1& Glauub :

Options :

51 )(52
86435119211.

86435119212. 51-5;

S,+5,
86435119213,

£

52
86435119214,
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Question Number : 12 Question Id : 8643516402 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The function of time representing a simple harmonic motion with a period of — is:
{a

Options :

sin(wt) + cos(wt)
86435119215.

= 77
sin“(wt)
86435119216.

' - %
3c05| — — 2wt |
86435119217. ' 4

cos(wt) + cos(2wt) + cos(3wt)
86435119218.

Question Number : 12 Question Id : 8643516402 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o] 9 T . . " u
g@mea Crrb — 2 el w ¢ Efams QusssHbarar sre smiy
! " . 2

Options :

sin(wt) + cos(wt)
86435119215.

« T}
sin“(wt)
86435119216.

f

N
3{:05] — = Tt |
4 J
86435119217.

cos(mwt) + cos(2wt) + cos(3wt)
86435119218.

Question Number : 13 Question Id : 8643516403 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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In a series LCR circuit, the inductive reactance (X, ) is 10 {} and the capacitive reactance (X}
is 4 (). The resistance (R) in the circuit is 6 ().

The power factor of the circuit is :

Options :

Sl

86435119219.

m|ﬁ

86435119220.

h.'-‘||—‘.

86435119221.

86435119222, 2V2

Question Number : 13 Question Id : 8643516403 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@@ Gdgrim LCR s&nmle, Blearblaawn blarbladiiy (X)) 10 Q, blaCssE
Wwlenlemdlmiy (Xo) 4 Q. Cuayd anidlér 2 erer Wlangen (R) 6 2 erafley smlen Smen
Syl :

Options :

Sl

86435119219.

m|ﬁ

86435119220.

hJ||—‘.

86435119221.

86435119222. 22

17/91



3/18/2021

Question Number : 14 Question Id : 8643516404 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following statements are correct ?
(A) Electric monopoles do not exist whereas magnetic monopoles exist.

(B) Magnetic field lines due to a solenoid at its ends and outside cannot be completely
straight and confined.

(C) Magnetic field lines are completely confined within a toroid.
(D) Magnetic field lines inside a bar magnet are not parallel.

(E) x= -1 is the condition for a perfect diamagnetic material, where y is its magnetic
susceptibility.
Choose the correct answer from the options given below :
Options :
and only
86435119223. ®) ©) :

(B) and (C) only
86435119224, :

86435119225, /) and (B) only

86435119226, (&) and (E) only

Question Number : 14 Question Id : 8643516404 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Yeeumb snpmseila erency sflwneremney ?

(A) Wlem epmupener @(HLULEGENa WOIMIES &THS eR(HLPEam @)(HEELD.

(B) eufldmmenmed igen (penansem WHMIL Ceuafluu@dluiledr enoud SrbsLLe
auflger ppeugih CrIrGCarLraab @m aurbln@ea s (Huubhdssuul (Hib
QmEELD.

(C) arbsuye Carhiser W(peugid @ &ML uild s HUUbSSIUL G (HEELD.

(D) &L srhssdayer o erar sl GCar(haser @anamnurs @\(HEsTg).

(E) @m wpubleaneurar Lwr &rbgs Hummerssrar Blubsaar x=—1 24,@wW.
Gt x - iFan &rHg 6FHLEme.

G sroul Herer Csieyflenwaaficr eflwnen eflanLenw CaibEs 0.

Options :
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86435119223, (B) wHmb (D) L (b

86435119224, (B) LDOID (C) LB

86435119225, (V) o0DID (B) LoD

26435119226, (€) LHMID (E) L (Hib

Question Number : 15 Question Id : 8643516405 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct relation between a (ratio of collector current to emitter current) and | (ratio of

collector current to base current) of a transistor is :

Options :
v
o 1+ o
86435119227.
p
o=
0K
86435119228.
1
i 1 — w
86435119229.
_ B
W= —-
1+p
86435119230.

Question Number : 15 Question Id : 8643516405 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(1 lgrmendlaiv Lifled a (grmuren WlenGenm L S&H@Lb 2 olpumer WlenCGemm L &alm@Lomer
ell&lsb) wHmib B - (ghuren WlerGearr_ L &M@EW0 igeumi wlerGenm L& mHELw mer

ell&lsD) -&&men Filwmenr Gamiy :

&

Options :
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B 1+
86435119227.
3
o =
o
86435119228.
: 1
B o
86435119229.
_ B
W= —-—
1+p
86435119230.

Question Number : 16 Question Id : 8643516406 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A proton and an a-particle, having kinetic energies K, and K, respectively, enter into a
magnetic field at right angles.

The ratio of the radii of trajectory of proton to that of a-particle is 2 : 1. The ratio of I(p : K,
15 :

Options :

86435119231, 1:4

86435119232, + 11

86435119233, 0 1

86435119234, 1+ 8

Question Number : 16 Question Id : 8643516406 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g YGrriLmen wHmbd e o-gsaflar @ubs ypndad wpapGu K, whmb K, .
SEN6U @ &THS Laddla bem@Gssns nenpdlamear. LCrrlLreafler ermlumengulen
U THHDGL a -Fisalean ermlurensuilen < r&sln@worar al&lsn 2 : 1 erafle afldlsn
Kp : K, -ar ol
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Options :

86435119231, 1 : 4

86435119232, + 11
8:1
86435119233,
1:58

86435119234.

Question Number : 17 Question Id : 8643516407 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Three rays of light, namely red (R), green (G) and blue (B) are incident on the face PQ of a
right angled prism POR as shown in the figure.

P

B———
——————
3

R———

Q_I R

The refractive indices of the material of the prism for red, green and blue wavelength are

1.27, 142 and 1.49 respectively. The colour of the ray(s) emerging out of the face PR is :

Options :

6435119235, blue and green

86435119236, Pue

green
86435119237.

86435119238, "¢

Question Number : 17 Question Id : 8643516407 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

gaflllen epeammy sfliser feuliy (R), udes (G), whmb Bebd (B) @@ CQeFkCsmen
WpUulL &b PQR -é UL &Sled sriiguyerereurm PQ -usssdla efl(pdlearmanr.

P

B—————
CG———

R———

Q_| R

feuliyy, uFens LHML Bo efllen @aBariisErsarar WUl LsUGLmmafler
gallellaga ecranser wenmGu 1.27, 1.42 wHmib 1.49 aafler L&sED PR euflGu
Qeuafleumd sdlisaflen Blmmiser

Options :
36435119235, DO 10HDID LE@S

86435119236, DO

86435119237, UFend

86435119238, e UL

Question Number : 18 Question Id : 8643516408 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The time taken for the magnetic energy to reach 25% of its maximum value, when a solenoid

of resistance R, inductance L is connected to a battery, is :

Options :
E In2
86435119239,
— Inb
R

86435119240.
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— Inl0
86435119241.

infinite
86435119242.

Question Number : 18 Question Id : 8643516408 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R -Blengen b, L Werhlenawwpd Caraw @ euflFsmer s g e
Glenamrsas LB Curg &rhs 2Hme e Lo wdlbd 25% e a(hdgis
Q& remEmLD SreLd :

Options :

86435119239,

86435119240.

86435119241.

T GBUT QT (D
86435119242, e

Question Number : 19 Question Id : 8643516409 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A plane electromagnetic wave propagating along y-direction can have the following pair of

electric field {E] and magnetic field {_E:] components.

Options :
E, B,crE, B,

86435119243. - B

E, ,Bljr or E

y - By

86435119244.
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86435119245, Lx’ Bz 0T E;, By

E .B.orE ,B
86435119246, ¥ 1 L

Question Number : 19 Question Id : 8643516409 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

y -2&8lan Flansuller Clawayd em swger Waasrbs ena Waraumbd Gegmg. wWlar e

{E} LD':”Q‘LE Erﬁ;’.&uu@} l:EJ &Ii-ﬂiﬁf}@"-ﬁi 'ﬂa&rbﬁTLq_(!Tj&@th.
Options :

E, ,B, s E,, B,
86435110243, Y7 Uy AVDH Lz, B

E., B, =jeeaas E , B
86435119244, * ~"rH ol o

E,,B, @i@ag E,, B,
86435119245, '

86435119246. Ey. By 2005 By, By

Question Number : 20 Question Id : 8643516410 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The decay of a proton to neutron is :
Options :

not pnssible as proton mass is less than the neutron mass
86435119247.

8643511924, Possible only inside the nucleus

‘ay 1 it 1 1 TR T ¥ rd
26435119249, always possible as it is associated only with 3 * decay

26435119250, MOt possible but neutron to proton conversion is possible

Question Number : 20 Question Id : 8643516410 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

e YGrmiLrer Bluyl rramms Hangeuen_eug) :

Options :

86435119247.

UCrrlivLrenr Hlenm Bl rren Hlevperw el @Genmeurs @)(HLULSTED,
Fr &S Lbleoene.

ay | & - o em e " (R 3 0
26435119248, 2SS MeSlgnien 0L (HLD Fr&S LD,

86435119249.
Q& p* HeogayLar w B Hgriye wgre eruGurgib FrésunmsLb.

86435119250.

sréflubdleoenea. pearmer Bl grenr yGrrlLrenrs WTMHM DML 6US

FIT& S| LD (& LD.

Physics Section B

Section Id : 864351428
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
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Sub-Section Id : 864351428
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643516411 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The projectile motion of a particle of mass 5 g is shown in the figure.

i e i T
/45° 45,
A

The initial velocity of the particle is 5v2 ms™" and the air resistance is assumed to be negligible.

The magnitude of the change in momentum between the points A and Bis x> 10~ 2kgms L
The value of x, to the nearest integer, is

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643516411 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

5 g Blenm Clasran epm Gurmaflen ermlelummer @widsnd LSl sl LUl (heTeng.

Ha5° 45
A B

glgaflen Cgr_&s85 HansCGausid 542 ms_lﬂimgﬁu SMOMIES Senl LNEET|ESHS 5555 .
Yeraflaer A womib B g, dweundndla Cuwrer o bs wromsdler eranr whlliL
xx10~2 kgms 1 erafley x-an &l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643516412 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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An infinite number of point charges, each carrying 1 pC charge, are placed along the y-axis
aty=1m,2m, 4m,8m......... g
The total force on a 1 C point charge, placed at the origin, is x x 10° N.

The value of x, to the nearest integer, is

[Take = 9x10°Nm?2/C?

d1reg

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643516412 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

geubeuremd 1 pC Wlerer L b Ga&raw wpgeiler eramanfléamauiarar LeTerl
Blemenr L miger y-&fler Slenguller y=1 m, 2 m, 4 m, 8 m ..,
eneudslILIL (hatararm. < Hufler eneudsliu Hidrer 1 C yatafl Wemenr L gdlen B mer

Qurés eflens xx10° N erafley x-en wdlliy . | = 9x10° Nm?%/C?]

4:’:TE{}

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643516413 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Two wires of same length and thickness having specific resistances 6 {} cm and 3 () cm
respectively are connected in parallel. The effective resistivity is p {) cm. The value of p, to

the nearest integer, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 23 Question Id : 8643516413 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

g0 fHerid wHmD Siger Carear @@ sbsallen sear WensemL eremsar penGL
6 0 cm wOMWD 3 0 cm. CoEID Bmeu LES @enawTber @eneanTdsuL (HeTaTar.
Lwenm WlengenL eremr p  cm erafled p-an wH L

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 24 Question Id : 8643516414 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A ball of mass 4 kg, moving with a velocity of 10 ms 1 collides with a spring of length 8 m
and force constant 100 Nm ~ 1. The length of the compressed spring is x m. The value of x,

to the nearest integer, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643516414 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

10 ms ™! flensCousgdledr @uiri@b 4 kg HlepmujenLw @@ LBSG 8 m Berepd 100 Nm
FmeT rhledlyb Garear. sHmar Bg Cuorgdng. smésiul L smafer Berd x m

1

erenled x-aim DAL
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 25 Question Id : 8643516415 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The typical output characteristics curve for a transistor working in the common-emitter

configuration is shown in the figure.

Io(mA) 1

The estimated current gain from the figure is

8

6

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643516415 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

___________ e Iy=40 uA
--------- femt e Tom B0 A
e
____?-.;'f — Ig=10pA
Vee(V)
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Qurg e Wblplurer sewlb9d GeuduBbd qm grradeviifler Ceueafluid

euanrTGaET(H&er UL SHler STl (HeTers).
51 a0y G (R et Hdled & (hemeng

Ic(mA) T
8 ——————————— ;.r__ ___I-B=4ﬂp-h
6:xmnnes N [T S
- S e ;=20 pA
!
2 --——}f;:---‘_ - IB=1D A
i
/j
0

L GHlebl(mbg samsdLuhin WerGanr LU Clu@mssn :

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643516416 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Consider a 72 cm long wire AB as shown in the figure. The galvanometer jockey is placed at

PP on AB at a distance x cm from A. The galvanometer shows zero deflection.

12 £} 6 (}
AAMN E\ AASAN
3
'xi;_:'..f'
|
X k.
o - i ?B
A

| P

The value of x, to the nearest integer, is

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 26 Question Id : 8643516416 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
72 cm Beraperer B LT Fnanann &0 AB-@ smEs. sraeuant BULT Ggrhsre]
AB-e0 A -Wlellmbg x cm Ggrenaeiled 2 ater yerafl P -é eneudsasliuphibn Gurg
sraeuer BLULT &1 dledssmns sl (Hdmg erafld x-er Ly

120} 6}

Y.
LYATAY

- >
A®

*B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643516417 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A galax}-' is moving away from the earth ata speed of 286 kms ~ 1. The shift in the wavelc-ngﬂl
of a redline at 630 nm is x <10~ ¥ m,

The value of x, to the nearest integer, is

[Take the value of speed of light ¢, as 3 x10° ms ™ 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 27 Question Id : 8643516417 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
@@ eflawmbenr &lrar 286 kms~! flansCeussdler LelldE oilurdw CFodlpg. 630 nm
%mmﬁeﬂﬂu Qaramr_ Heuliyy Hlmsdl e éqﬁﬂ&ﬂﬁ;@flﬁﬂﬁh? Quuwiey xx10~ 19 m. erafle
x-ai &L . (<=mdled o emar (p(perat HHSSLOTS)
(geflller fHlansCeusd c=3x10° ms~! erand C&mers)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 28 Question Id : 8643516418 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider a water tank as shown in the figure. It's cross-sectional area is 0.4 m?. The tank
has an opening B near the bottom whose cross-section area is 1 ecm?. A load of 24 kg is
applied on the water at the top when the height of the water level is 40 cm above the bottom,
the velocity of water coming out the opening B is v ms L.

The value of v, to the nearest integer, is

[Take value of g to be 10 ms ™~ ]

24 kg
[ A
s,
B ! '.I‘ -\..

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 28 Question Id : 8643516418 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
uLgdle arlguerer B Qasrigew smas. Qsear @Gné@6el R uriy 0.4 m?.
Qariiguiler g lu@Hude @né@tea(h 1cm? o arer B eranm ¢ Snliy o dreng).
Qe riiguler ouguladmbg 40 cm 2 wrsdleéd o drer Biflér 24 kg manwo Claey dgb Curg
B eranm SHoindedlmpg CeueflCu eumb Bflan HansCousd vms™! oy @ib.
v -af WAL, D mled 2 aTer (P eTenT Sl(HEHLOMS,

[g -wWem wHLL 10 ms™2 eran er(HEsayLD]

24 kg
—————

S

Ve =
W T

B ".I"._..

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643516419 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A TV transmission tower antenna is at a height of 20 m. Suppose that the receiving antenna

is at.

(i)  ground level

(i)  a height of 5 m.

The increase in antenna range in case (ii) relative to case (i) is n%.
The value of n, to the nearest integer, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 29 Question Id : 8643516419 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@ TV gafluriy Caryrsdlen oialijens peri e 2 wird 20 m ereflad i&%enar

D GITGU TR (@D 6L 6T (@)(HLILIG) :

(i) sy LLLSH (i) 5m s wrsdle

(i) =Lear uA@GDn Curg (i) -ar Uy e amalar oifsaiss n% erafld
n - AU (Carymuwnrs)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643516420 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The radius of a sphere is measured to be (7.50 = 0.85) cm. Suppose the percentage error in its
volume is x.

The value of x, to the nearest x, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643516420 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

e 2 (meneTulen i (7.50 +0.85) cm erem Bl (DeTens). @sen sean ieTeller
ell(psar(h Seum x erafler x -ar wSHlUY (Carrruwrs)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Chemistry Section A
Section Id : 864351429
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351429
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643516421 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A hard substance melts at high temperature and is an insulator in both solid and in molten

state. This solid is most likely to be a/an:
Options :
86435119261, lomic solid

86435119262, Covalent solid

86435119263, Metallic solid

86435119264, Molecular solid

Question Number : 31 Question Id : 8643516421 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@& e Sigarnorar Gurmer, e wiibs Geuliubleanautler 2 (HESms Co@Ib 5 S
womb Sreu Hleveula WersL s Gummer. oidHLLiGurmeT EpdsanrLsunmle
TS @(HebS FTHEwD ?

Options :

86435119261, 21W@lE Slerion
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86435119262 Fa&UenenT LS Sleawriol

86435119263, 2 e0NE5 Elaimow

86435119264, DD Cp@&ES)

Question Number : 32 Question Id : 8643516422 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement 1 : Bohr's theory accounts for the stability and line spectrum of Li ¥ jon.

Statement 11 :  Bohr’s theory was unable to explain the splitting of spectral lines in the

presence of a magm-tic field.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

86435119265, both statement I and statement II are true.

86435119266. Both statement I and statement 1l are false.

86435119267, Statement 1 is true but statement 11 is false.

86435119268, Statement 1 is false but statement 11 is true.

Question Number : 32 Question Id : 8643516422 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

G @rew([® smonsser CarHéstul [Hereng :

gapmi-1: CGurfler Glararens, Li*-owallller Bleoalyssearaw whHmb el
Blmwrene LDl elleufladlmg,.

gapmi-Il : Curflen Garetens, sThsUY@L eanalameauia Blpwreaa euflser
fleuenss Lmbdl aflers Geudlerana.

Cuonsar, sapmnsafer <gylumL e Snssam_eaunfldmbs Hlag sflwmes

ellen_anwid CaimHels(.

Options :

86435119265, TDDI-1 LOMID SxPI-1 GremHin &l
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sz i o e i e T
26435119266, TPDI-1 LOYID SE=pmy-1I GremHio seum)

86435119267, FDDI-1 &fl pared sapmi-1l Heum

86435119268, FDDI-1 Seuml paed Eapmi-11 &l

Question Number : 33 Question Id : 8643516423 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The charges on the colloidal CdS sol and TiO, sol are, respectively :
Options :

86435119269, Positive and positive

86435119270, Negative and positive

86435119271. positive and negative

6435119272 Negative and negative

Question Number : 33 Question Id : 8643516423 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Falpo CdS (&red) womib TiO, (#réd) 2 fweuddler Bagerer Wensennser wpeannGu :
Options :
86435119260, Grimblen wHmib GrirLsler

86435119270, ¢ STl LOMID Cpiblem

86435110271, P Mlem LOmID erdlibler

86435119272, THTLOIGT LOOMID Grlmblen

Question Number : 34 Question Id : 8643516424 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The first ionization energy of magnesium is smaller as compared to that of elements X and Y,
but higher than that of Z. The elements X, Y and Z, respectively, are :

Options :
26435119273, T80T, chlorine and sodium

26435119274, chlorine, lithium and sodium

86435119275, argon, lithium and sodium

26435119276, neon, sodium and chlorine

Question Number : 34 Question Id : 8643516424 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Qusatdlwugder e swalurs oomed X womb Y sallwsams alulbfasla
@Gemey pamed Z-eow il lab. X, Y womib Z-pdwu saflokiser wpannGu :
Options :
86435119773, <2 &Te, @Cermflen womb Cariguwib

86435119274, GCaTMEN, GlSELID WHMID Cemawid

86435119275, <2 &men, elgdlubd whmb Garguwib

wiren, Gamguwid wHmd @&Cerriflen
86435119276. B ' 5 DML &

Question Number : 35 Question Id : 8643516425 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(a) Mercury (i) Vapour phase refining
(b) Copper (if)  Distillation Refining
(c) Silicon (iii) Electrolytic Refining
(d) Nickel (iv) Zone Refining

Choose the most appropriate answer from the option given below :

Options :
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86435119277, (@)-(id), (b)-(iii), (c)-(iv), (d)-(1)
86435119278, (@)-(1), (B)-(iv), ()-(i), (d)-(iii)
86435119279. (@)-(i), (b)-(iii), (c)-(i), (d)-(iv)

26435119280, (@) (1), (b)-(iv), (c)-(iii), (d)-(1)

Question Number : 35 Question Id : 8643516425 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Uaquied - I -2 e L iquiev - I -enw Gummsg)s.

LI g uwig0 - 1 UL g uwiso - 11
(a) ursrsb i) <=eil Blene &58&M10L
(b) &TLUIT () &smO&s eugsdsa ssHlaflly
() Hleblsammem (i) Olemerrmn SMUEnLOWITHSHED
(d) Blése (iv) wear_e &EEl&M0LY

Epaaaneundlelmbg efwuresr efenLanwd Caibts®H :
Options :
86435119277, (@)-(i), (b)-(iti), (c)-(iv), (d)-(i)

86435119278, (@)-(1), (B0)-(iv), ()-(i), (d)-(iii)
86435119279 (@)-(ii), (b)-(iii), (c)-(i), (d)-(iv)

26435119280, (@), (b)-(iv), (c)-(iii), (d)-(1)

Question Number : 36 Question Id : 8643516426 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In basic medium, I-I?_Cl2 exhibits which of the following reactions ?

(A) Mn?* — Mn?t
(B) L —I
(C) PbS — PbSO,

Choose the most appropriate answer from the options given below :
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Options :
86435119281, (V) only

86435119282, (B) only

86435119283, (4) (B) only

86435119284 () (O only

Question Number : 36 Question Id : 8643516426 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gy Blenawule, H,0, SpssaniL eThs eflanamenw/eflenansenar BlapdsdEmg ?
(A) Mn?* — Mn?*?

(B) L—I

(C) PbS — PbSO,

Spssan_cunblelmbg Was aflwner cllaLawud Cairnbels (.

Options :
86435119281, (A) LB

G o —
86435119282, (B) LOL(HILD

SEERY -
86435119283, (A), (B) L (Hib

S =
26435119284, (&), (C) LL(HD

Question Number : 37 Question Id : 8643516427 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List - I with List - 11 :

List - 1 List - 11
(a) Be (i) treatment of cancer
(b) Mg (ii) extraction of metals
(c) Ca (iii) incendiary bombs and signals
(d) Ra (iv) windows of X-ray tubes

(v) bearings for motor engines.

Choose the most appropriate answer from the option given below :
Options :
86435119285, (@)-(1v), (b)-(iid), (c)-(ii), (d)-()

86435119286, (@) (i), (b)-(iv), (c)-(i1), (d)-(v)

86435119287, @ (V). (b)-(iid), (¢)-(3), (d)(i)

26435119288, (@), (b)-(tv), (c)-(v), (d)-(x)

Question Number : 37 Question Id : 8643516427 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Uliquied - o e uliqwev - II -eow Qummssis.

LI g uis0 - 1 UL g uwiso - 11
(a) Be () ybmChrewu GamiLdss
(b) Mg (i) o Carsrsamer Yfs6ls0HEsS
(c) Ca (i) Gleug@enr(h wWHMID FOlEhenFHET
(d) Ra (iv) X-adli @wmisaflen genanasarfe

v) Guorionri erpdrigaflen Guflr u@dludea
Spssa_cunbledlmbg WDas eflwner cllaLawud CsirnbelsH.
Options :
86435119285, (@)-(iv), (b)-(iii), (c)-(i), (d)-(1)

26435119286, \@)-(iD), (b)-(iv), (c)-(ii), (d)~(v)

36435119287, @ V), (B}, ()-(1), (d)(1i)
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2643511928, (@r(ii), (b)-(iv), (c)-(v), (d)-(i)

Question Number : 38 Question Id : 8643516428 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The oxidation states of nitrogen in NO, NDE, NZD and NDE are in the order of :
Options :

NO > NO, > N,O > NO;
86435119289, & :

N,O > NO, > NO > NO;
86435119290, 2 :

86435119291, NO2> NO3 >NO>N,0

NOZ > NO, > NO > N,O
86435119292. NOg 2 2

Question Number : 38 Question Id : 8643516428 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
NO, NO,, N,O wihmib NO; -epflueundler 2 erer enplrmaflen &l gGarnmn
eramraailan Fflwirer cuflens :

Options :

NO > NO, > N,O > NO;
86435119289, & :

N,O > NO, > NO > NO;
86435119290, 2 :

86435119291, 1\O2> NO3 >NO>N,0

NOj; > NO, > NO > N,0
86435119292. :

Question Number : 39 Question Id : 8643516429 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The oxide that shows magnetic property is :

Options :
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¢

5i0
86435119293. =

Mn,O
86435119204, 13-4

MgO
86435119295,

Na,O
86435119296. "

Question Number : 39 Question Id : 8643516429 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
&ThSL LeasenUl ClubhmieTer oy danev(h :
Options :

¢

5i0
86435119293. =

Mn,O
86435119204, 13-4

MgO
86435119295,

Na,O
86435119296. "

Question Number : 40 Question Id : 8643516430 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The secondary valency and the number of hydrogen bonded water molecule(s) in
CuErD__l'SHED, respectively, are :

Options :
86435119297, 4 and 1

86435119208, 0 and 4

86435119299, > and 1

86435119300, 0 and 3
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Question Number : 40 Question Id : 8643516430 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CuSO,-5H,0-cflev o arer @rawLmb Blene @evemt@lmen wWOHMD 6mam L Fgen
Senemr19éd o arer Bir apedsamsaiien erementldans wannGuw :

Options :

86435119297, 4 LMD 1

86435119298, O LLOMILD 4

86435119299, ° 0L 1

86435119300, O LOMILD 5

Question Number : 41 Question Id : 8643516431 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1 : Non-biodegradable wastes are generated by the thermal power plants.
Statement I :  Bio-degradable detergents leads to eutrophication.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

86435119301 both statement 1 and statement 11 are true.

86435119302. Both statement I and statement 1l are false.

86435119303, Statement I is true but statement 11 is false.

26435119304 Statement 1 is false but statement 11 is true.

Question Number : 41 Question Id : 8643516431 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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£Cy @ran(h shmsar QarBastiul (Herarar :

gapn-l: 2 Ml soeors wpanplla HamsauaLwrs sfle|samer <) are ler
BlenewkiseT 2 (heur&@EEms).

Gapm-Il : 2 WAl panulea HAmgeauamwyd saomeaudsd Ceriyser ool | Fs55
Bl@dleows (L CrmiGasar) CarnmelsEslmg,.

CuhsarL sambhnseiler ogliumLulea, Spssar_aunilalmbsg Wess aflwnes

ellen_enw s CarHelSH.

Options :

36435110301, ZPDU-T 1ODID Fapp-1 Qraw@id

06435110307, FDDI-1 LODIL SEapmu-1l @bl seum

26435119303, FDmI-1 &l panmé) sapmi-1 Heum

26435119304, TPDI-1 Seum LOMID Sapmi-11 &l

Question Number : 42 Question Id : 8643516432 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1 :  C,H:OH and AgCN both can generate nucleophile.
Statement Il : KCN and AgCN both will generate nitrile nucleophile with all reaction

conditions.

Choose the most appropriate option :
Options :

86435119305, Both statement I and statement 11 are true.

86435119306. Both statement I and statement 1l are false.

6435119307 Statement 1 is true but statement 11 is false.

86435119308, Statement 1 is false but statement Il is true.

Question Number : 42 Question Id : 8643516432 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

£Cp @ ran( Fpmsear Srouul(Heremer :

gamm-1 : CH;OH wimmib AgCN @iranm(hib &H(Haeul Sranileaner o (HeuTdEEng.

gapmi-1l : KCN wpmib AgCN @ ran(hb erevem allenand @pesailayd enbLleanyead
FH(HEEUT &TewilEHeneT o (16U md@dl mg.

ConsarL sampmsailar oiglumLld, Epssar_eundldmbs Nas sflwne

eSlenanwig CarHhls(.

Options :

86435119305 T>DOIT 10HDID FmpI-Il QremBid

26435119306, FDOI LHHID SaDOI-IT GresnBid Heun
26435119307, PO &l 2pamed sEmpm-Il -geum

86435119308, FDOI-1 Heum wHMID Snpp-Il -l

Question Number : 43 Question Id : 8643516433 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the following molecule,

d
H;C

%,

b e

b
=

\
H H

Hybridisation of Carbon a, b and ¢ respectively are :
Options :
3 2
86435119300, P 7 P P

2
86435119310, 57 5P P
86435110311, P P P

& sl
86435119312, F 7 P
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Question Number : 43 Question Id : 8643516433 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

a
H,C

\Czt’IZJ—DE@ (@) CEiTLD Sl b
/N
H H

&mirLiem a, b wHmD c-ef @and& ey wennGw :

iE

Options :

3 ol 2
86435119309, 7 P

R,
86435119310, °F 7 5P~ 5P

1y
86435119311, ¢ P P

sp3, sp, sp2
86435119312, ¢ P P

Question Number : 44 Question Id : 8643516434 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Main Products formed during a reaction of l-rm:-thmq-' naphthalene with h}-’dmindi{: acid

are :
Options :
[

and CH;l

86435119313.
[

and CH;OH

86435119314,
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OH

and CH,OH

o

86435119315.

OH

and CH,]

o

86435119316.

Question Number : 44 Question Id : 8643516434 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
eanl CrroGurgsd oblaggLear 1-Bssraall priugeiar afllamaru@n Qurwg
Cgremmib (p&blw eSlenenlummersar :

Options :

mmDd CH,l

86435119313.

wmmiwn CH,OH

5 -

86435119314.

OH

mmi CH,OH

o

86435119315.

OH

mmib CH;l

o

86435119316.
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Question Number : 45 Question Id : 8643516435 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the reaction of hypobromite with amide, the carbonyl carbon is lost as :
Options :
86435119317. €O

86435119318. CO,

A &
86435119319, 3

HCO,
86435119320. 3

Question Number : 45 Question Id : 8643516435 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

sjenwHLear eanliGur UCrrenwl eflenamupib CUTg STiLenaned &riLem S e
ergleurs BaswenL dng ?

Options :

86435119317. €O

86435119318. CO,

A &
86435119319, 3

HCO,
86435119320. 3

Question Number : 46 Question Id : 8643516436 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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é il NaOH  ,y s H*, Heat e

Consider the above reaction, the product “X’ and “Y" respectively are :

Options :

d”o é/@
86435119321.
86435119322. d'/‘@
86435119323. é/o &r’/\:
86435119324. d’//o d{;@

Question Number : 46 Question Id : 8643516436 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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$ir5s NaOH

H*, Qeuliuib
>

ai X.H i Yv’f

CumnsarrL eflenamuiley 2 meur@bd eflenerlummer X womib Y wennGu :

Options :
O O
W ; é/@
86435119321.
OH 0
86435119322. O
O O
W ; M
86435119323.
O O
W lf M
86435119324.

Question Number : 47 Question Id : 8643516437 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An organic compound “A” on treatment with benzene sulphonyl chloride gives
compound B. B is soluble in dil. NaOH solution. Compound A is :

Options :
86435119325, Cotis ~ CHp NH CH,
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C.H.-N-(CH
86435119326, & O (CHy),

86435119327, Cotis ~ NHCHCH,
CeHs—CH—NH,

86435119328. CHa

Question Number : 47 Question Id : 8643516437 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@ “A”-erenm &fwFCsinsans Huanfear Fa..Curafls olobsLear eflaearbhss
B -eranm Csiwb feL&dmg. B -Fids NaOH -é@ sardlng erafles Cemwibd

A—@Teh'ug)] :

Options :

86435119325, Ceils ~ CHy NH CH,y
C.H.-N-(CH

86435119326, & 3 (CHy),

C.H; ~ NHCH,CH,
86435119327, 6 2=
CeHs—CH—NIH,

86435119328, Gk

Question Number : 48 Question Id : 8643516438 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NH, NH, NH, NH,
NO,
HNO,, H,S0,
> + +
288 K
NO,
NO,
A B ¢

Consider the given reaction, percentage yield of :
Options :

86435119329, 2> C > B
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86435119330, € > A>B

=C>
86435119331. o i

86435119332, > B> A

Question Number : 48 Question Id : 8643516438 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NH, NH, NH, NH,
NO,
HNO, , H,50
3,90y I F
288 K
NO,
NO,
A B 5

CuhsearL ellaearieo, elaeriCummellen elaerdsd Fseigb
Options :

>C=>
86435119329, + 7> B

86435119330, € > A>B

=T
86435119331. sl

86435119332, € > B> A

Question Number : 49 Question Id : 8643516439 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List - I with List - 11 :

List -1 List- 11
(Class of Chemicals) (Example)
(a) Antifertility drug (i Meprobamate
(b)  Antibiotic (i) Alitame
(c) Tranquilizer (iii) Norethindrone
(d) Artificial Sweetener (iv) Salvarsan

Choose the most appropriate match :
Options :
86435119333, @)-(W), (b)-(iii), (c)-(11), (d)-(i)

86435119334, @) () (b)-(ii). ()-(iv), (d)-(3)
86435119335, @)1, (B)-(iv), (c)-(), (d)-(ii)

86435119336, @) (), (B)-(), (c)-(), (d)-(iii)

Question Number : 49 Question Id : 8643516439 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
UL aguiev - I -2 e uiquiev - I -enw Gummsg)s.
UL lguig0 - 1 UL iguisv - 11
(CeudluGunmeflenr suems) (e_snyemin)
()  smSS®L O DS)
(b) erdli 2 U4l
() war yenwdliuBiss
(d) Gewunems Feeuwyl g
Blasdlphs CUNMHSSS56m85 C5ib0sH.
Options :
86435119333, (@)r(1v), (b)-(iii), (c)-(ii), (d)-(i)

i) GuuCrruCGul
ii) 2edlG LD
iii) GmrrellsSlenGymb

iv) &FTeneuTFen

26435119334, @) (1), (b)-(iid), (¢)-(iv), (d)-()

seans11o33s. @), (BD)iv), ©-(), (d)-ii)
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86435119336, @ (@) (B)-(v), (c)-(), (d)-(iii)

Question Number : 50 Question Id : 8643516440 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Deficiency of vitamin K causes :
Options :
86435119337, ncrease in blood clotting time

86435119338. Decrease in blood clotting time

86435119339, Cheilosis

86435119340, Increase in fragility of RBC's

Question Number : 50 Question Id : 8643516440 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
eneul_L e K @enpuml_Lmed :
Options :

G50 2 enmEedlerr CHID &lsflEslr
86435110337, TR LS DECION SHRTED e Pel

86435119338, "HSLD e-@psedlar Gy G

~ S e G s 2 po 3
86435119339, M@ &l CleLLLLGEDE)

&g HeulLiuamdsatlen flengel odlsflsEdln
86435119340, & 56| 5 &)

Chemistry Section B
Section Id : 864351430
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20
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Mark As Answered Required? : Yes

Sub-Section Number : 1
Sub-Section Id : 864351430
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643516441 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
10.0 mL of Na,CO; solution is titrated against 0.2 M HCI solution. The following titre values
were obtained in 5 readings :

48 mlL, 4.9 mlL, 5.0 mL, 5.0 mL and 5.0 mL.

Based on these readings, and convention of titrimetric estimation the concentration of Na,CO,
solution is mM.

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643516441 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

100 .60l Na,CO, senyae, 0.2 Gored HCI -aLan b uridsiufdmg. &0Dés e
5 Srburisse jarelsar ClumpliubhidEng.

4.8 0601, 4.9 L0601, 5.0 1Bl.60l, 5.0 LBl.60l, mmib 5.0 1.6l

CuhsarL SIb LTSS eTeyseTed @(Hbhg ST UMTSS6 (Llg6LHeT g LLenL udla
Na,CO,-senraadlen &lmeir 181.Glom. (eflenL =y(m&led 2 aTem (Lp(p eTemTemiled )

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643516442 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The number of species below that have two lone pairs of electrons in their central atom is

(Round off to the Nearest Integer).
SF,, BF, , CIF,, AsF,, PCl;, BrF., XeF,, SF,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643516442 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
ECLp o dter apedsamsafienr, enww gl Bg) @ran(H saflss Cammg. Tl renseanemL
LlunmieTeTencugatlem T ewrenilEens N pp eramantmed @GOILY(6H)

SF,, BF; , CIF,, AsF,, PCl,, BrFy, XeF,, SF,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643516443 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The gas phase reaction
2A(g) = As(g)
at 400 K has AG°= +25.2 k] mol—1.

The equilibrium constant K- for this reaction is %1072 (Round off to the Nearest
Integer).

|[Use : R=8.3] mol 1K-1 In10=23
log,; 2=0.30, 1 atm=1 bar]
[antilog (—0.3)=0.501]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 53 Question Id : 8643516443 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
2A(g) = A,(g)-@eueuruy Blena ellenamuled
400 K -e0 AG - Lu;éh;lq= +25.2 k] mol !
@ cuellenaruflen #fleney wrledl Ko x1072 . (eflenL impdléd 2 emem wpp
6T atsT euwfl b )
(@@ R=83] mol ' K~!,In10=23
Iogm 2=030, 1 atm=1 bar]
[antilog (—0.3)=0.501]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643516444 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A solute A dimerizes in water. The boiling point of a 2 molal solution of A is 100.52°C. The

percentage association of A is . (Round off to the Nearest Integer).
[Use : Ky, for water =0.52 K kg mol !
Boiling point of water=100C]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643516444 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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e &anylummer “A” B @mugwrdms. “A” - efler 2 Corame seanyaedlen Cardlblane
100.52°C. A-cin CGairdans s56isL0 . (efllen y(m&led 2 arem (p(p eTamTEmTled)
G - hfler K, = mo Fflen Q& rdlHlenew =100°C)
(@@ : Bflar K, =052 K kg mol ! Sfler Qandf 100°C)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 55 Question Id : 8643516445 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The solubility of C dSD in wateris 8.0 10 4mol L~ L Its solubility in 0.01 M I-IzErD‘_f1 solubion
is %107 mol L~1. (Round off to the Nearest Integer).

(Assume that solubility is much less than 0.01 M)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643516445 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Bflép CASO,-en senydlmen 8.0x10~% Guoreéd L~ 0.01 M H,50, saraeled 2igen
&aniy Slm et x1076 Guomred L~ (aflen 2iméled 2 emer (p(p eTevTemiled)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 56 Question Id : 8643516446 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The molar conductivities at infinite dilution of barium chloride, sulphuric acid and
hydrochloric acid are 280, 860 and 426 S em? mol ! respectively. The molar conductivity at
infinite dilution of barium sulphate is S cm? mol 1. (Round off to the Nearest

Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643516446 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

augbumnm Biss Bloowd Cuiiub @GCarrar®, Fao..uflé odlab wHmb
anam L Crm@Germfla eybleasgdlen Corart sLgg SHmear wparmCGuw 280, 860 wmhmib 426
S cm? mol ~ ! erafléd aurbumm Bids Hleveulld Cufwb .Gl iyer Gorart SL5g|
1

£l man S cm? mol (eflenL y(mdled 2 aTem (1p(p eramTantled)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643516447 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A reaction has a half life of 1 min. The time required for 99.9% completion of the reaction is
min. (Round off to the Nearest Integer).

[Use : In 2=0.69; In 10 =2.3]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643516447 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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@ eflenanuilen jeny ueaTaren 1 HWLb erafler 99.9% eflenar (pigeuamLwd
Caeneuwiren GmyLd BBILD. (eflen yméled 2 aTem (L eTemTemlen)
[Lweau(hissHS : In 2=069; In 10=2.3]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643516448 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A xenon compound ‘A" upon partial hydrolysis gives XeO,F,. The number of lone pair of
electrons present in compound A is . (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643516448 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

‘A -eranm Clspenrenr Camob u@dl Brrh L@Esseld XeO,F,-aneu Gar(Hadng). Carob
A-a 2 amer gallGmrig. ered_rrenseaflen orameantlsans - ((w(p eramTenTIEd
GHLA6H)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643516449 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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COOH COOH

FeB
+Br2ip + HBr

Br

Consider the above reaction where 6.1 g of Benzoic acid is used to get 7.8 g of m-bromo

benzoic acid. The percentage yield of the product is
(Round off to the Nearest Integer).
[Given : Atomic masses : C : 120 u, H: 1.0 u, O : 16.0 u, Br : 80.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643516449 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

COOH COOH

FeB
+Br2i} + HBr

Br

CunsanL dlamarawsd smsda Carar(®, 7.8 Syrb m -yGrrGuwr Glusngruils
S Blaon Gump 6.1 &rrb GQuerGsruils dleod vweauBhsSsUUBE DS
aflenem Qummatlen eflenardaaien FgHelsid . ((wp(yp erawremtmed @GHMILILGMH)
[EEiE o am) ﬁe&m&eﬁ 1 C:120u, H: 1.0 u, O : 16.0 u, Br : 80.0 u]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 60 Question Id : 8643516450 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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In Tollen’s test for aldehyde, the overall number of electron(s) transferred to the Tollen's

reagent formula [Ag(NH;),]" per aldehyde group to form silver mirror is

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643516450 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

S eamanhsEnssrar Lreear (Tollen's) Cergeananuliley, Gleudrall g o @ _mg ¢(rm
paigananh Dsr@Sullalmbg Lraer sranll cpadsmm eurr® [AgNH,),1* -4
@Lubuwrey seLwyb Glurgs aeslrrasaler aaneanfldans
(eflenL_ (p(p eramramiled @MlYMH)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
Mathematics Section A

Section Id : 864351431
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351431
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 8643516451 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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If 15sin*a+10costa=6, for some aeR, then the value of 27sec®a+ 8cosec®a is equal to :
Options :

86435119351. 300

86435119352, 100

86435119353, 220

86435119354, 220

Question Number : 61 Question Id : 8643516451 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Hleo aeR -&@ 15sinta+10cos*a=6 eraflé 27sec®a +8cosec®a -aim Wl -
Options :

86435119351. 500

86435119352, +00

86435119353, 220

86435119354, 220

Question Number : 62 Question Id : 8643516452 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If P and Q are two statements, then which of the following compound statement is a
tautology ?

Options :

86435119355, (F=QA~Q) =P

86435119356, (P=Q) ~~Q) = Q
26435119357, (P=Q A~Q) = ~P

86435119358, (P=Q) A ~Q) = (P A Q)
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Question Number : 62 Question Id : 8643516452 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

P, Q crenmuan @renr(h snmidser eraled ‘HG“EP e R S e
Options :
86435119355, (P=Q) ~~Q)=7P

86435119356, (P=Q) ~~Q) = Q

26435119357 (P=Q Ar~Q)= ~P

86435119358, (P=Q A ~Q)= (P~ Q)

Question Number : 63 Question Id : 8643516453 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A pole stands vertically inside a triangular park ABC. Let the angle of elevation of the top of

the pole from each corner of the park be % If the radius of the circumcircle of AABC is 2,

then the height of the pole is equal to:

Options :
86435119359, 2

86435119360.

86435119361.

86435119362.

Question Number : 63 Question Id : 8643516453 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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ABC eremm (p&Carent euigel Lmisrelle gm sbub Ceti@gssns Blmnss vl (herarg.

L, a1 meiflenr gpew (el eum(m eupemeoudladl(mbain sbusdler o FHullarm grmm&EaHrenT LD 3 TS,
AABC -ar smmieul L Sdlemr 7 2 eTailed ShudSlem o wirb
Options :

23

86435119359,

86435119360.

86435119361.

86435119362.

Question Number : 64 Question Id : 8643516454 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let in a series of 2n observations, half of them are equal to a and remaining half are equal to
—a. Also by adding a constant b in each of these observations, the mean and standard

deviation of new set become 5 and 20, respectively. Then the value of al+b?is equal to :
Options :
86435119363, 222

86435119364. 425

86435119365. o

86435119366. =

Question Number : 64 Question Id : 8643516454 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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2n Qg rir seaorLil udleysafled, Lrdl ‘a” -&@ FwTEE|LD Lﬁﬁ urdl —a -&@& FOT&HE|LD
2 _crangl. Cuaid geubleurmm savr il Ldleer b eramm wrilablanw gl (Hib Gumepg
@bs el udleysailer grrefl LOMWL S eflawd&sbd WanGu 5 WHMIWL 20 4, @ELD.
2LGILTpg a2+b? -an Wiy :
Options :
86435119363 922

86435119364. 425

86435119365. o

86435119366. =0

Question Number : 65 Question Id : 8643516455 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let in a Binomial distribution, consisting of 5 independent trials, probabilities of exactly
1 and 2 successes be 0.4096 and 0.2048 respectively. Then the probability of getting exactly
3 successes is equal to :

Options :
40
86435119367 243
80

86435119368, 243

128

86435119369. 2

‘32

86435119370. b2

Question Number : 65 Question Id : 8643516455 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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e@(m FHmLL ureuedley 5 #rmiaears wwundlsear Cuonelsrareriiu (h Gleumml 1 wmHmb
2 umeusnsrear Blspsse; wpamGuw 0.4096 womb 02048 =@ . sflwurs epenm
Qeumlaer fen_LiLgnaren Blaspssea, :

Options :
40

86435119367, 243

80
86435119368, 243

128

86435119369. e

32

86435119370. e

Question Number : 66 Question Id : 8643516456 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
— — o =
AB| = 10, then the projection of the vector AB on

CA‘ =7

78 _
In a triangle ABC, Lf‘B{:‘ —B.
g

AC 1is equal to :

Options :
15

86435119371. 2

85
86435119372, 14

127
86435119373, 20
>
86435119374, 4

Question Number : 66 Question Id : 8643516456 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

‘_}| e - KT o |
ABC -é [BC| =8, |CA| =7, |AB| =10 era@iléev AC -em bg% AB -en & Lpabdl ot &l

Options :
15
86435119371. =
85

86435119372, 14

27

86435119373,
s
86435119374, 4

Question Number : 67 Question Id : 8643516457 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let the centroid of an equilateral triangle ABC be at the origin. Let one of the sides of the

equilateral triangle be along the straight line x+y=3. If R and r be the radius of circumcircle
and incircle respectively of AABC, then (R+r) is equal to:

Options :
o
86435119375. 242
9
?
86435119376.

86435119377, 7¥2

86435119378.

Question Number : 67 Question Id : 8643516457 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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FUES WECETantd ABC -6 Yelluirliy enwwib 2,8 erens. nLES WECHTand e
@(m USSD x+y=3 erein Cariliged o arerg). R whmibd r eremuen wpennGu AABC -er
FHmielL Hmb 2 éreul L msefler prasenet @hlssred (R+r) -er wdlliy

Options :

o~

86435119375.

86435119376.

86435119377.

86435119378,

Question Number : 68 Question Id : 8643516458 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
" ; '
Let a tangent be drawn to the ellipse ;—H I yz = lat (343 cos0,sind) where 0 E{{], %w
i i, i

Then the value of 6 such that the sum of intercepts on axes made I:n, this tangent is minimum

is equal to :

Options :

T
3
86435119379.
T
b6
86435119380.
p
8
86435119381.
n
4
86435119382.

Question Number : 68 Question Id : 8643516458 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

2 ; ’
L yz =1 eremm ﬁ.@h@u L Elm @ (343 cosh,sind) ﬂe({], EW eraomm L erefluded

27 )
QgsrhCar® cwenyulu@dng. CsrhiCar(h oidsassalae gnubhsgsn Geal (Hd
gamhsailer smHse BFAn whHlienn Gumb 6 -er Wl :
Options :
2
3

86435119379.

NE

86435119380.

|4

86435119381.

| 2

86435119382.

Question Number : 69 Question Id : 8643516459 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

d ' k]
Let y=y(x) be the solution of the differential equation ay = (y + 1) [Ey F1)e™ 72 I_},

ds
0 < x <21, with y(2)=0. Then the value of a’f at x=1 is equal to :

Options :

E\_
2
(1 + e2)
86435119383.
2&2
2
'[1 [ eE.]
86435119384.
s
2
{ez 1 1)

86435119385.

71/91



3/18/2021

86435119386.

Question Number : 69 Question Id : 8643516459 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

d ' . x2/
y=y(x) erevig ay = (y + 1) |:_[y | 1}&1'3 x], 0 <x <21 y(2)=0 erenm @Laﬁaséa@&\.@é

8 g i 1 . : : o RO :
Foamurliger Sreum@h. Ltlurpg x=1 eremn @)L bl i - W&l
Options :
o2
2
(1 + &2)
86435119383.
2¢?
2
(1+ €2)
86435119384.
50}”—;
(® g2)
86435119385.
3
g2
(e2+ 1)
86435119386.

Question Number : 70 Question Id : 8643516460 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The area bounded by the curve 43> =x%(4 — x)(x—2) is equal to :

Options :
3

86435119387. 8
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Nk

86435119388.

|3

86435119389,
Br
3

86435119390.

Question Number : 70 Question Id : 8643516460 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
4P =22(4-x)(x—2) erenm eueneTeueny gHUBSHD LGS ular Lrly

Options :

86435119387.

.4
86435119388, 16

|4

86435119389,
3
2

86435119390.

Question Number : 71 Question Id : 8643516461 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 1
Let g(x) = L;f(t}dt, where f is continuous function in [0, 3] such that 3 =) (t) = 1 for all

tel0,1]and 0 = f(t) = — forall t € (1, 3]. The largest possible interval in which g(3) lies is :

1
2
Options :

1

=oa
3

86435119391.
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1
L _}
2
86435119392.
1, 3]
86435119393,
T s
o]
2
86435119394,

Question Number : 71 Question Id : 8643516461 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g(x) = J‘;j{t]dt, eTen&. @k ferenm Friry [0, 1] erenmm @enGleuaflufey o erer ereveom

t-&@L —=<f(t) =1 womd (1, 3] erern @enL Cleuaflulley = émem ereberm t -&@ELD

0| =

ek

0= fit) = 5 erammeunm enwhsgl, [0,3] erenm @enLGeuefluller Ggmréflwren gmiy.

(]

2(3) @m&Ewn BUGlum @er Ceuefl :

2]

Options :

86435119391.
1
L _}
2
86435119392.
1, 3]
86435119393,
T s
S
2
86435119394,

Question Number : 72 Question Id : 8643516462 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Letf: R — R be a function defined as

If fis continuous at x =0, then the value of a +b is equal to :

Options :

86435119395.

sin(a + 1) x + sin2x

LJifx=<0
Ix
<b JAfx =0
,I' 3
= bx_; Jx Lifx>0

#
2

86435119396, — 3

86435119397.

2

3
2

86435119398.

Question Number : 72 Question Id : 8643516462 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

f:R — R erenm &miy

sin(a + 1) x + sin2x

, x <0 eredfled

2x
b L x =0 erafle
—
/ 3
x + bx X .
: — Vx , x > 0 erefled
| bx 2

eTammeurm euenTwmssEILhSma.

fereamug) x=0 WL &g Qaridflwrer sriy erafld a+b - W&l :

Options :
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5
86435119395, 2

86435119396, — 3

86435119397. ~2

3
2
86435119398.

Question Number : 73 Question Id : 8643516463 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let S, be the sum of first 2n terms of an arithmetic progression. Let S, be the sum of first 4n
terms of the same arithmetic progression. If (5,—5) is 1000, then the sum of the first

6n terms of the arithmetic progression is equal to :
Options :
86435119399, 7000

86435119400, 2V00

86435119401, 3000

86435119402. 1000

Question Number : 73 Question Id : 8643516463 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

P& 2n 2 muussmend caran, sl (hd dasriflear am{sa S, erans. S, erarug
WPa® 4n 2 muyssamard daram 2Cs saml(hsd derflar sambsmead @nlédlns.
S,—5,=1000 erafled sl (Hsbsrfler s 6n 2 muysseiean smbsadler wlly :
Options :

86435119399, /U000

86435119400, 2V00

86435119401, 3000
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86435119402. 1000

Question Number : 74 Question Id : 8643516464 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let S, : 22+y*=9 and S, : (x—2)2+y?=1. Then the locus of center of a variable circle S

which touches S, internally and S, externally always passes through the points :

Options :

86435119403.

86435119404.

86435119405.

86435119406.

Question Number : 74 Question Id : 8643516464 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

5
Geuaflliymwrseyb Gsrl(hF Geaoen el L wrMl S -er enwwsSlen BlwwlLrans
eullFClFayd Lemarfl

y L x24+y?=9 oMb S, @ (x—2)2+y?=1 eTans. S;-@m 2 L LDLTEED S,-@

Options :
: o
(23)
\ 2)
86435119403.
(0, =3)
86435119404.
g . )

86435119405.
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86435119406,

Question Number : 75 Question Id : 8643516465 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let the system of linear equations

dx+ Ay +2z=0

2x—y+z=0

px+2y+3z=0, A, peR.

has a non-trivial solution. Then which of the following is true ?
Options :
86435119407, M= wek

86435119408, M= 0 AeR

86435119409, N=2 neR

86435119410, #=6, AeR

Question Number : 75 Question Id : 8643516465 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
dx+ Ay +2z=0
2x—y+z=0
px+2y+3z=0, A, peR eremm Couilwé Fwearurl(fs CsrEluss eraflenwulaears
Siey o an(h erens. UGILT(pE SDESETL UDMIET 6TH 2 ciTend ?
Options :
86435119407, M=% HeR

86435119408, M= 0 AeR

86435119409, N=2 peR

86435119410, =6, AeR
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Question Number : 76 Question Id : 8643516466 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X . ¥
Letf: R~ {3} — R— {1} be defined by f(x) = —.

Let g : R — R be given as g(x)=2x—3. Then, the sum of all the values of x for which

' 13
i 1) 4 2 )= ET is equal to.

Options :

2

86435119411.

86435119412.

86435119413.

=]

86435119414.

Question Number : 76 Question Id : 8643516466 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. . x—2
f:R—{3} > R—{1} ererm griy f(x)= —

eTemmemm euenfumdslubhdng.
g: R — R eram &miy g(x)=2x—3 erend GlarHsstubidlng).

-1 -1 3. i : . :
f x)+g @)= — eTEDeT 2 6T erée x-saflen s (s :

Options :

2

86435119411.

86435119412.

86435119413.

=]

86435119414.

Question Number : 77 Question Id : 8643516467 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let a complex number be w = 1 \3 i. Let another complex number z be such that |zw| =1
and arg(z)—arg(w)= % Then the area of the triangle with vertices origin, z and w is equal

to :

Options :

b | =

86435119415.

86435119416.

Yy

86435119417.

86435119418, &

Question Number : 77 Question Id : 8643516467 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

solduent w=1-+3i erans. z erenng Goum @ sSolLQuen |zw|=1 wHob

arg(z) —arg(w) = 5 CTEDEUN) 2 GeTg). %eﬂ z DHMID W -S6T (LPENESETT&d (ol mesm_

(Wp&CHramdHHlem LTl :
Options :
1
86435119415.

86435119416.

| =

86435119417.

86435119418. .
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Question Number : 78 Question Id : 8643516468 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Define a relation R over a class of n xXn real matrices A and B as
“ARB iff there exists a non-singular matrix P such that PAP~ 1=B".
Then which of the following, is true ?

Options :

86435119419, R is reflexive, symmetric but not transitive
86435119420. R is reflexive, transitive but not symmetric

86435119421 R is symmetric, transitive but not reflexive,

86435119427, R is an equivalence relation

Question Number : 78 Question Id : 8643516468 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R eranmm Ggriiy (Relation) nxn euflens Garaw Gl yeamflgdar A, B -safler
Ghbusdle ARB eremm euanrwmliugnE@ Csaneuwmeang b Gurg orearg o e
Bubsemar P eramm ysfwwpn Casreveu jenfl Hevdxk PAP 1=B eremp
sLuurianL Blenmey Glewiw Ceuam(hil.

£ D&ESET_cUDMIET 6T 2_6vuTenln ?

Options :
86435119419, R eranuigy sH&(H, FwddiT e sLUUS Csriiry 2.

86435119420, & eremLigl H& (5, SLUL panred FnFFT CsrLiy oide.

s643511040] R TS ST, sLLL spenred shal () sy @b

R eremug) e Fwmenm Gl&miL.
86435119422 g @0 Qg

Question Number : 79 Question Id : 8643516469 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Consider a hyperbola H : x> —2y?=4. Let the tangent at a point P (4, /6 Jmeet the x-axis at

Q and latus rectum at R (xy, i), x; > 0. If Fis a focus of H which is nearer to the point P, then

the area of AQFR is equal to .

Options :
6
86435119423. J_
i
— =2
6
86435119424. J_
46 — 1
86435119425.
46
86435119426. J_

Question Number : 79 Question Id : 8643516469 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
H: x2-2y?=4 eranp oifureuearwigens or(pogd CararGeurib. P (4, V&) eremm
Yerafluder euenrwiul L QasrhCarh x odans Q eramm UeTafludeayd wmHmib
Olacueusadans R (xy, yy), x; >0 eranm yerafluligpd shdlédlma. F eramug H -6 @ellub

womd P -&@ imarenwulia o erer yetafl erafley AQFR -anm Lirliueney :

Options :

J6
86435119423.

b

et

6

86435119424. V6

46 — 1
86435119425.

46

86435119426.
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Question Number : 80 Question Id : 8643516470 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

] - — -
Let a and b be two non-zero vectors perpendicular to each other and ‘a‘ = || & 1

, then the angle between the vectors (a T {.a X EH and a isequal to:

—3
a

e
a x b|=

cos ! [

86435119427.
cos 1 [

sf_n_l[

sin !

Options :

|

-

2.
I\.fl| g
h. i

86435119428.

J

-

86435119429.

|
=)

—11
V6 )
86435119430,

Question Number : 80 Question Id : 8643516470 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— —
d

—— —--
a WOHMD b erenm GeudL fger Laflwinnm eqeamsblarearm Cleni@ssmear ‘ ‘: ‘b‘

— [ — s

GTGTDEUTN) Bienhs GleudL T&HaT. ‘; s e ‘;‘ 6T anfl 6 [: o b]i] LD LD

—
a -&@ER&EE @enLiul L CaremTd
Options :

(3

86435119427.
cos 1 [

2.
I\.fl| e
h. e

86435119428.
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-

sin_ 1{

86435119429.
s 24

sin 1 7 ,;|

86435119430.
Mathematics Section B

Section Id : 864351432
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351432
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643516471 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If flx) and g(x) are two polynomials such that the polynomial P(x) =I_.|r{13] +x g{ﬁ] is divisible
by 12 +x+1, then P(1) is equal to _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643516471 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
P(x)=f(x®) +x g(x)* ererm veumiiLd Careneu x2+x+1 - euGuBLLTD f(x), g(x)
eremuar @rewr(h ueemlLsé Carencuser erefled P(1) -em w&lly
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 82 Question Id : 8643516472 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let I be an identity matrix of order 2x 2 and P = [5

P" =51 8P is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643516472 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1
J. Then the value of neN for which

, x #1, is equal

. . - z =1 .
I eremugy) 2 %2 aufflens Clgmenr Fwaill jenfl wLHmDd P= [5 ,5] GTGUIS.
P"=5I—-8P erammeurm 2 ¢var neN -er iy e Ml
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
100
Question Number : 83 Question Id : 8643516473 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
10
) ) ) xr+1 xr—1
The term independent of x in the expansion of | — T 77
x3 x* + 1 x x2

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 83 Question Id : 8643516473 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

10
x+ 1 X 1 : 2 ca : : ]
5 F 7| , x # 1 eramp &Nlflgedled x sryrg o munlenr wdliy

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643516474 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

if St (e® + 6r% + 2r + 5) = o (11Y),

then the value of « is equal to _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643516474 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

10 \
Yo lr + 6r

r=1

2 5 | | |
2r+ 5) = a(1l), gaflé) o -er &I

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 85 Question Id : 8643516475 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let P(x) be a real polynomial of degree 3 which vanishes at x= —3. Let P(x) have local

1
minima at r=1, local maxima atx=—1and I P(x)dx=18, then the sum of all the coefficients
-1

of the polynomial P(x) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643516475 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

x=—3 erenm @ sl yFFlwor@hd P(x) eremuig 3 Ligujarer e Gl LdbeaymiliLé

Careneu erens. P(x) -&@& x=1 womib x=—1 eranm @ _misaflad panCGu @)L Ehaminhs
k|

S&fmy womb @UEpsring BUGELm wdiy fenls@h wHmnb IP{x]dx= 18 erens.
-1

UGEumpg Pa) -ar dapsseilen s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643516476 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Let y=y(x) be the solution of the differential equation xdy—ydx= 11'Il{xz yz } dx, x =1, with

y(1)=0. If the area bounded by the line x=1, x=eT, y=0 and y=y(x) is ae’™ + B, then the
value of 10(a+p) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643516476 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

y=y(x) ererug xdy—ydx=u{:x2 yz_] dx, x=1, y(1)=0 eremn eumESELSUPEF

goeamur’gen §irey erans. Carhisdr x=1, x=e, y=0 LOHMD y=y(x) 2 (HeuT&ELD
u@Slufenr Lrly ae?™+p eraflés 10(a+p) -6 iy

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643516477 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

x 1 _y+6 _ z+5
3 4 2

Let P be a plane containing the line and parallel to the line

= T 8 If the point (1, —1, a) lies on the plane P, then the value of 5qf is

equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 87 Question Id : 8643516477 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

X l_ylﬁ_zIS
3 4 2

P eremm SeTid erarm CarienL o emerL&dlwug b

*—3 y—2 745
¥ x 3 7 et Ca&rliiym@ @enemtwmeng). (1, —1, a) erenm Yerefl P eremm

sarsHle @(mhsre [Sal -er wH L

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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M

Let the mirror image of the point (1, 3, a) with respect to the plane ?(2 = ; | ;H b=0

be (—3, 5, 2). Then, the value of |a+b| is equal to
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Let "C, denote the binomial coefficient of x" in the expansion of (1 +x)".

10
If l (22 + 3k) "Ck=u.3”]+[_%.2m, o, BeR, then a+p is equal to
(=0
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Let f: R — R satisfy the equation fix+y)=f(x). f{y) for all x, y € R and f(x) # 0 for any x € R.

i 1 . .
If the function fis differentiable at x=0 and f’(0) =3, then ;IH_?, E [ f(h) 1) is equal to
] J i
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